F1IARIETRAI—X T vh—BFIEXE
604% - 685% LI_E R B —F A k- [BAL R BB & &

[60mEA L] REESVUE/ IRALRTER

RBLEF—F AT
Pl

o1 B
0 | 3 5 ISR £ A BB AMEIEREHRRL)
7/8 11:30~ E ﬂ#: Ei}ﬁjl:‘ybx
(60 L1 SRIER) 5 I
60 EHIT=vIR iatick E/560
a3 60Fk A EIR Yy h—
$ath: JI\FE73SC60
N\F¥J5SsC60 60 ARIK Yo h— HF60 EE =760
7/8 10:30~ 7/8 9:30~ ‘
0 [ 2 0 [ 1
[60mLlE] FESVUFRR
25 ILBRRSES L EEIEELE
AT L—F A-1 A-2 A-3 e | B | x4 | #R | RS
AFRAE
%60 1 - 0 0 - 3 3 1 3 | -2 3
EHERAER
NAFHT5SC60 0 - ! 8 B 2 S0
Wi RRE
60 3 - 0 2 - 3 3 5 3 2 1
25 IUBRRSES L EEIEELE
B IN—TF B-1 B-2 B-3 A | BR | x4 |B%s| R
EARRE
e P— 0 - 2 6 - 0 3 6 2 4 2
BERERAR
EHTI=vhR 2 - 0 1 - 1 a3 | 1] 2|1
ERRAER
EAL =760 1 - 1 0 - 6 1 1 71-61] 3
[68mLLL] REESVUR/ IBRIRER
RBEF—F AU
L] o] R ® B
2 | 1 3 WL RS AR A ME2 B EHADE)
7/8 11:30~ B % 70**Eﬁ‘yj]_
(68 L1 b RIBER) D . —
0B EHvh— EHII=vIR @A BHII=vHR
$afhi: BEHV=TI0
46 &F70
HHL=TT0 BF10 1Lifs70 EEL=7710
I 7/8 10:30~ 7/8 9:30~ I
1 [ 0 0 | 1
[68ELlL] PRSI IUFHER
2 LB RESEM AEHE2ERLB
AT L—F A-1 A-2 A-3 B | AR | KA | ess | R
BUHERKER
7O h— 3 0 1 1 4 4 1 3 1
WBRAR
W70 0 - 3 1 - 1 1 1 4 | -3 | 3
HHRAE
RBL=770 1 1 1 1 2 2 2 0 2
2 : LB RESEH LAEHE21ERLH
BIINL—TF B-1 B-2 B-3 WA | BA | x4 |BRA| EE
EERAE
— 0 2 0 1 0 0 3 | -3 3
ERRAR
BT vhR 2 0 2 0 6 4 0 4 1
BERRE — 1 - 0 0 - 2 3 1 2 | 2
AF10




